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Guess Paper - 2010
Class- X

Subject - Science
Q.1   How much energy is captured by green plants in a terrestrial ecosystem?
Q.2 Why maximum accumulation of harmful chemical occur in human beings?
Q.3   What are the two types of chemicals which cause the depletion of the ozone 

           layer and create ozone holes?

Q.4  Which two of the following materials are non bio degradable?

       (i)Paper, leather, nylon, egg shell, glass. (ii)Tea leaves, glucose, cotton, silver foil.

Q.5  Which of he following in a food chain will have maximum concentration of 

          harmful chemicals in its body: Small fish, zooplankton, bird, phytoplankton?

Q.6   Which of the following belong to the first tropic levels :

           Grasshopper, Rose plant, Neem tree, Cockroach.
Q.7   Consider the following food chain :

           Grass ► Goat ► Tiger. If tiger has 30J of energy available   in this food  chain, 

          how much energy was in the grass?

Q.8   (i) 2C2H6 + 7O2 ( 4CO2 + 6H2O + Heat

          (ii) C2H6 + Cl2 ( C2H5Cl + HCl

          (iii) C2H5OH + [o] (CH3COOH + H2O

Q.9   (i) Nitrogen       it should be present b/w C and O

          (ii) Carbon                (iii) Be < N < F
Q.10   (i) J                             (ii)     B2H

          (iii) Covalent Bond

          (iv) 

Q.11   (1) (i) Catenation   (ii) Tetravalent nature

                (iii)Multiple bond formation

           (2) Saturated contain single bond and 

           unsaturated contain double or triple bond     

Q.12  (i)  Acetic acid [CH3COOH ]
          (ii) CO2     (iii)  it turns limewater milky
       CH3COOH +NaHCO3 ------  CH3COONa +CO2+H2O
Q.13   (i) E   (ii) Si  (iii)E  (IV) DO2  (V) E
Q.14   (i) Butanone      (ii) 2 – methyl propane

           (iii) Methanoic acid         (iv) Propanal

            (v) 2,2 di methyl propane.

                                EXTRA NOTES

●    The earth crust has only 0.02% carbon in the form of minerals  like carbonates, hydrogen carbonates, coal & petroleum and atmosphere has 0.03% of carbon dioxide.

● Methane is widely used as a fuel and is a major component of  biogas and CNG.

● Diamonds can be synthesized by subjecting pure carbon to very high pressure and temperature. These synthetic diamomds are  small but are otherwise indistinguishable from natural  diamonds.

● Carbon also forms bonds with other elements such as halogens, oxygen, nitrogen and sulphur. In a hydrocarbon chain, one or more hydrogens can be replaced by these elements, such as the  valency of carbon remains satisfied. In such compounds, the 

element replacing hydrogen is referred to as a heteroatoms.

● The heteroatoms confer specific properties to the compound,  regardless of the length and nature of the carbon chain and hence are called functional group.

● Saturated hydrocarbons will generally give a clean falme while unsaturated carbon  compounds will give a yellow flame with lots of black smoke . this results in a sooty deposit on the metal plate in burning of unsaturated compound. However limiting 

the supply of air results in incomplete combustion of even  saturated hydrocarbons giving a sooty flame.

●    The gas/ kerosene stove used at home has inlets for air so that a 

       sufficient oxygen-rich mixture is burnt to give a clean blue 

       flame.  

●    The bottoms of cooking vessels getting blackened, it means that 
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